4 2 |SCREW CHc M3x6 - ISO 4762 A4-70 0.00
3 4 |SCREW CS M3x6 - 1ISO 1207 NYLON 0.00
2 1 IMICROSCOPE BLADE 0, 91.00.1467 1 |SAMPLE ENAW-2017 | 0,001
91.00.1466 1 |BLADE SUPPORT ENAW-2017 | 0,0181 91.00.1460 1 |SAMPLE SUPPORT ENAW-2017 | 0,0113
ITEM | DRAWING N. | QTY |[DESCRIPTION / REMARKS MATERIAL W./Kg DRAWINGN. | QTY |DESCRIPTION / REMARKS MATERIAL W./Kg

13 2 |SCREW CHc M3x6 - ISO 4762 A4-70 0.00
12 2 |SCREW Hc M4x6 - ISO 4027 0.00
11 4 |SCREW CHc M3x12 - ISO 4762 A4-70 0.00
10 3 |SPRING SPEC C04200451250S VANEL
@ 9 3  |Extremely Fine Hex M3 x 0.20- F3ES15 THORLABS 0,
8 3 [Threaded Bushing M3 x 0.20- F3ESN1P THORLABS 0,
7 3 |Full Ball with Counterbored Hole 375-B-CB Bal-tec™ 0,
91.00.1459 3 |SPRING PUSHER INOX 0,0039
91.00.1458 1 |ADJUSTABLE SUPPORT ENAW-2017 0,0377
( : — 91.00.1457 1 |FIXED CAGE ENAW-2017 0,0713
Q45D 91.00.1456 1 |HANDLE ENAW-2017 0,0221
@ 4 i 91.00.1455 2 |ROD INOX 0,0165
o L L M@ 91001454 | 1 |KINEMATIC CENTERING ENAW-2017 | 0,125
/1 11{111] o ITEM] DRAWING N. | QTY [DESCRIPTION / REMARKS MATERIAL W./Kg
10— \;%W =i SCALE: 1/17 NAME DATE
S S oom 17|0 DRN. HEYMAN 20/03/19
% 1%l CKD.
| NANO POSITIONNING BONDING [z
\@S\ / )9/ GEN.TOL.: 1SO2768 fH
/ \
GEN. SURFACE FINISH : Ra 3,2
\ 1458 ,
AA Y SKILLET ASSY.
6@ EUROPEAN SYNCHROTRON | ASSY. 91.00.1450
RADIATION FACILITY
CS 40220 - 38043 Grenoble Cedex 9 -
MOD| DATE DRND. APPD. DESCRIPTION A3 TEL. 04-76-88-20-00 WWW.ESRF.FR 91 OO ) 1 451

1 2 3 | 4 | 5 | 6  SolidWorks

=

ESRF




	Sheet1
	Vue de mise en plan1
	Vue de mise en plan4
	Vue de mise en plan6
	Vue de mise en plan8
	Vue de mise en plan9
	Vue de mise en plan10
	Vue de mise en plan11
	Vue en coupe A-A


